<b>OPTION 1</b>					Company, Iı rstown, MD	nc.	James River Solutions (JRS) Ashland, VA				٦
	Item	A OPIS Newsletter Price as of 08-24-17	B Bidder +/- Factor	C OPIS Price + Bidder Factor (A + B) Per Gallon	D Approx. Gallon Usage	E Net Delivered (C X D)	B Bidder +/- Factor	C OPIS Price + Bidder Factor (A + B) Per Gallon	D Approx. Gallon Usage	E Net Delivered (C X D)	
	Gasoline Unleaded 87 Octane CBOB Ethanol (10%) Tank-wagon	\$1.554	\$0.1865	\$1.7405	61,887	\$107,714.32	\$0.1800	\$1.7340	61,887	\$110,780.05	*
Sec. I	Gasoline Unleaded 89 Octane CBOB Ethanol (10%) Tank-wagon	\$1.6652	\$0.1865	\$1.8517	8,500	\$15,739.45	\$0.1800	\$1.8452	8,500	\$15,684.20	*
	Total Sum Gasoline Tank-wagon Deliveries as Described in Section I			\$1	23,453.77		\$126,464.25				*
	Gasoline Unleaded 87 Octane CBOB Ethanol (10%) Transport	\$1.554	\$0.0300	\$1.5840	210,000	\$332,640.00	\$0.0080	\$1.5620	210,000	\$353,012.00	*
Sec. II	Gasoline Unleaded 89 Octane CBOB Ethanol (10%) Transport	\$1.6652	\$0.0300	\$1.6952	194,926	\$330,438.56	-\$0.0117	\$1.6535	194,926	\$322,310.14	*
	Total Sum Gasoline Transpo as Described in Section			\$6	63,078.56			\$6	75,322.14		*
	Total Sum Diesel Tank-wagon Deliveries as Described in Section III No. 2-D Diesel Ultra Low Sulfur	\$1.6468	\$0.1765	\$1.8233	63,875	\$116,463.29	\$0.1675	\$1.8143	63,875	\$116,251.27	*
Sec. IV	Total Sum Diesel Transport Deliveries as Described in Section IV No. 2-D Diesel Ultra Low Sulfur	\$1.6468	\$0.0325	\$1.6793	647,213	\$1,086,864.79	\$0.0123	\$1.6591	647,213	\$1,126,218.64	*

<b>OPTION 1</b>	AC & T Company, Inc. Hagerstown, MD	James River Solutions (JRS) Ashland, VA			
Winter Chemical Additive Protection (cost per gallon):	Tankwagon at Rack: \$.0300/gallon added to product cost Transport: \$.0600/gallon added to product cost	\$0.025 *			
Winter Chemical Additive Protection Product Name:	Tankwagon at Rack: CFI-1902 Transport: 137 ULSW Diesel Treat 2000	Legal Diesel Fuel Additive 1400 LHF *			
Manufacturer's Name:	Tankwagon at Rack: Innospec Transport: Schaffer Manufacturing	Innospec *			

	<b>OPTION 2</b>				Company, In Trstown, MD	nc.	James River Solutions (JRS) Ashland, VA				
		Α	В	С	D	Е	В	С	D	Е	
	Item	OPIS Newsletter Price as of 08-24-17	Bidder +/- Factor	OPIS Price + Bidder Factor (A + B) Per Gallon	Approx. Gallon Usage	Net Delivered (C X D)	Bidder +/- Factor	OPIS Price + Bidder Factor (A + B) Per Gallon	Approx. Gallon Usage	Net Delivered (C X D)	
Sec.	Gasoline Unleaded 87 Octane CBOB Ethanol (10%) Tank-wagon	\$1.554	\$0.1840	\$1.7380	61,887	\$107,559.61	\$0.1750	\$1.7290	61,887	\$110,460.62	*
Ι	Gasoline Unleaded 89 Octane CBOB Ethanol (10%) Tank-wagon	\$1.6652	\$0.1840	\$1.8492	8,500	\$15,718.20	\$0.1750	\$1.8402	8,500	\$15,641.70	*
Sec.	Gasoline Unleaded 87 Octane CBOB Ethanol (10%) Transport	\$1.554	\$0.0275	\$1.5815	210,000	\$332,115.00	\$0.0070	\$1.5610	210,000	\$352,786.00	*
Π	Gasoline Unleaded 89 Octane CBOB Ethanol (10%) Transport	\$1.6652	\$0.0275	\$1.6927	194,926	\$329,951.24	-\$0.0137	\$1.6515	194,926	\$321,920.28	*
Sec. III	Total Sum Diesel Tank-wagon Deliveries as Described in Section III No. 2-D Diesel Ultra Low Sulfur	\$1.6468	\$0.1740	\$1.8208	63,875	\$116,303.60	\$0.1625	\$1.8093	63,875	\$115,930.89	*
Sec. IV	Total Sum Diesel Transport Deliveries as Described in Section IV No. 2-D Diesel Ultra Low Sulfur	\$1.6468	\$0.0300	\$1.6768	647,213	\$1,085,246.76	\$0.0110	\$1.6578	647,213	\$1,125,336.19	*
	OPTION 2 Total Sum Bid of All Sect (Sections I-IV)	tion Totals		\$1,	986,894.41			\$2,	042,075.68		*

<b>OPTION 2</b>	AC & T Company, Inc. Hagerstown, MD	James River Solutions (JRS) Ashland, VA
Winter Chemical Additive Protection (cost per gallon):	Tankwagon at Rack: \$.0300/gallon added to product cost Transport: \$.0600/gallon added to product cost	\$0.025 *
Winter Chemical Additive Protection Product Name:	Tankwagon at Rack: CFI-1902 Transport: 137 ULSW Diesel Treat 2000	Legal Diesel Fuel Additive 1400 LHF *
Manufacturer's Name:	Tankwagon at Rack: Innospec Transport: Schaffer Manufacturing	Innospec *

<u>NOTES:</u> James River Solutions (JRS

\*Deemed non-responsive due to submitting improper Form of Proposal

	<b>OPTION 1</b>			Mansfield Oil Company of Gainesville, Inc. Gainesville, GA				Petroleum Traders Corporation Fort Wayne, IN			
	Item	A OPIS Newsletter Price as of 08-24-17	B Bidder +/- Factor	C OPIS Price + Bidder Factor (A + B) Per Gallon	D Approx. Gallon Usage	E Net Delivered (C X D)	B Bidder +/- Factor	C OPIS Price + Bidder Factor (A + B) Per Gallon	D Approx. Gallon Usage	E Net Delivered (C X D)	
	Gasoline Unleaded 87 Octane CBOB Ethanol (10%) Tank-wagon	\$1.5540	No Bid	No Bid	61,887	No Bid	No Bid	No Bid	61,887	No Bid	
Sec. I	Gasoline Unleaded 89 Octane CBOB Ethanol (10%) Tank-wagon	\$1.6652	No Bid	No Bid	8,500	No Bid	No Bid	No Bid	8,500	No Bid	
	Total Sum Gasoline Tank-wagon Deliveries as Described in Section I		No Bid				No Bid				
	Gasoline Unleaded 87 Octane CBOB Ethanol (10%) Transport	\$1.554	+\$0.0496	\$1.6036	210,000	\$336,756.00	+\$.0037	\$1.5577	210,000	\$327,117.00	
Sec. II	Gasoline Unleaded 89 Octane CBOB Ethanol (10%) Transport	\$1.6652	+\$0.0082	\$1.6734	194,926	\$326,189.17	-\$.0212	\$1.6440	194,926	\$320,458.30	
	Total Sum Gasoline Transport Deliveries as Described in Section II		\$662,945.17				\$647,575.30				
III	Total Sum Diesel Tank-wagon Deliveries as Described in Section III No. 2-D Diesel Ultra Low Sulfur	\$1.6468	No Bid	No Bid	63,875	No Bid	No Bid	No Bid	63,875	No Bid	
	Total Sum Diesel Transport Deliveries as Described in Section IV No. 2-D Diesel Ultra Low Sulfur	\$1.6468	+\$0.0773	\$1.7241	647,213	\$1,170,341.49	\$0.0390	\$1.6858	647,213	\$1,091,072.00	

<b>OPTION 1</b>	Mansfield Oil Company of Gainesville, Inc. Gainesville, GA	Petroleum Traders Corporation Fort Wayne, IN
Winter Chemical Additive Protection (cost per gallon):	+\$0.0250	\$0.02
Winter Chemical Additive Protection Product Name:	ColdPro	Diesel Treat 2000 Ultra Low Sulfur Winter Premium (#13ULSSW)
Manufacturer's Name:	Arsenal	Schaeffer Manufacturing Company

	<b>OPTION 2</b>		Mansfield Oil Company of Gainesville, Inc. Gainesville, GA				Petroleum Traders Corporation Fort Wayne, IN			
		Α	В	С	D	Е	В	С	D	Ε
	Item	OPIS Newsletter Price as of 08-24-17	Bidder +/- Factor	OPIS Price + Bidder Factor (A + B) Per Gallon	Approx. Gallon Usage	Net Delivered (C X D)	Bidder +/- Factor	OPIS Price + Bidder Factor (A + B) Per Gallon	Approx. Gallon Usage	Net Delivered (C X D)
Sec.	Gasoline Unleaded 87 Octane CBOB Ethanol (10%) Tank-wagon	\$1.554	No Bid	No Bid	61,887	No Bid	No Bid	No Bid	61,887	No Bid
I	Gasoline Unleaded 89 Octane CBOB Ethanol (10%) Tank-wagon	\$1.6652	No Bid	No Bid	8,500	No Bid	No Bid	No Bid	8,500	No Bid
Sec.	Gasoline Unleaded 87 Octane CBOB Ethanol (10%) Transport	\$1.554	No Bid	No Bid	210,000	No Bid	No Bid	No Bid	210,000	No Bid
II	Gasoline Unleaded 89 Octane CBOB Ethanol (10%) Transport	\$1.6652	No Bid	No Bid	194,926	No Bid	No Bid	No Bid	194,926	No Bid
	Total Sum Diesel Tank-wagon Deliveries as Described in Section III No. 2-D Diesel Ultra Low Sulfur	\$1.6468	No Bid	No Bid	63,875	No Bid	No Bid	No Bid	63,875	No Bid
Sec. IV	Total Sum Diesel Transport Deliveries as Described in Section IV No. 2-D Diesel Ultra Low Sulfur	\$1.6468	No Bid	No Bid	647,213	No Bid	No Bid	No Bid	647,213	No Bid
	<b>OPTION</b> Total Sum Bid of All Sect (Sections 1-4)				No Bid				No Bid	

<b>OPTION 2</b>	Mansfield Oil Company of Gainesville, Inc. Gainesville, GA	Petroleum Traders Corporation Fort Wayne, IN
Winter Chemical Additive Protection (cost per gallon):	No Bid	No Bid
Winter Chemical Additive Protection Product Name:		
Manufacturer's Name:		

NOTES:

	OPTION	1		RKA Petrole Roi	um Compan mulus, MI	ies, Inc.
	Item	A OPIS Newsletter Price as of 08-24-17	B Bidder +/- Factor	C OPIS Price + Bidder Factor (A + B) Per Gallon	D Approx. Gallon Usage	E Net Delivered (C X D)
	Gasoline Unleaded 87 Octane CBOB Ethanol (10%) Tank-wagon	\$1.5540	No Bid	No Bid	61,887	No Bid
Sec. I	Gasoline Unleaded 89 Octane CBOB Ethanol (10%) Tank-wagon	\$1.6652	No Bid	No Bid	8,500	No Bid
	Total Sum Gasoline Tanl Deliveries as Described in				No Bid	
	Gasoline Unleaded 87 Octane CBOB Ethanol (10%) Transport	\$1.5540	+\$0.0546	\$1.6086	210,000	\$337,806.00
Sec. II	Gasoline Unleaded 89 Octane CBOB Ethanol (10%) Transport	\$1.6652	+\$0.0154	\$1.6806	194,926	\$327,592.63
	Total Sum Gasoline Transpo as Described in Sectio			\$6	65,398.63	
	Total Sum Diesel Tank-wagon Deliveries as Described in Section III No. 2-D Diesel Ultra Low Sulfur	\$1.6468	No Bid	No Bid	63,875	No Bid
	Total Sum Diesel Transport Deliveries as Described in Section IV No. 2-D Diesel Ultra Low Sulfur	\$1.6468	+\$0.0576	1.7044	647,213	\$1,103,109.80

<b>OPTION 1</b>	RKA Petroleum Companies, Inc. Romulus, MI
Winter Chemical Additive Protection (cost per gallon):	\$0.04
Winter Chemical Additive Protection Product Name:	Diesel Guard Supreme Plus
Manufacturer's Name:	Valve Tect

	OPTION	2	RKA Petroleum Companies, Inc. Romulus, MI				
	Item	A OPIS Newsletter Price as of 08-24-17	B Bidder +/- Factor	C OPIS Price + Bidder Factor (A + B) Per Gallon	D Approx. Gallon Usage	E Net Delivered (C X D)	
Sec.	Gasoline Unleaded 87 Octane CBOB Ethanol (10%) Tank-wagon	\$1.5540	No Bid	No Bid	61,887	No Bid	
Ι	Gasoline Unleaded 89 Octane CBOB Ethanol (10%) Tank-wagon	\$1.6652	No Bid	No Bid	8,500	No Bid	
Sec.	Gasoline Unleaded 87 Octane CBOB Ethanol (10%) Transport	\$1.5540	No Bid	No Bid	210,000	No Bid	
II	Gasoline Unleaded 89 Octane CBOB Ethanol (10%) Transport	\$1.6652	No Bid	No Bid	194,926	No Bid	
Sec. III	Total Sum Diesel Tank-wagon Deliveries as Described in Section III No. 2-D Diesel Ultra Low Sulfur	\$1.6468	No Bid	No Bid	63,875	No Bid	
Sec. IV	Total Sum Diesel Transport Deliveries as Described in Section IV No. 2-D Diesel Ultra Low Sulfur	\$1.6468	No Bid	No Bid	647,213	No Bid	
	OPTION 2 Total Sum Bid of All Sect (Sections 1-4)			No Bid			

OPTION 2	RKA Petroleum Companies, Inc. Romulus, MI
Winter Chemical Additive Protection (cost per gallon):	No Bid
Winter Chemical Additive Protection Product Name:	
Manufacturer's Name:	

NOTES: